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BB AB] = (X —Xg ) +(Ya Yo )' =V5|Ya— Vel =VBx[(Ya+ Yo ) —4YaYe = W15
W2p?—p-6=0, WAHP>0, fitfd: p=2.

(GNERES S |

FE F(L0), ZAEL MN fR =R REAZE,

WRELMN: x=my+n, M(x,¥,),N(%,Y,),

2 =4x
aa{y W, y?—4my—4n=0, Ll Y, +Yy, =4myy, =—4n,
X=my+n

A=16m’+16n>0=m*+n>0,
FNMF -NF =0, Bl (% —1)(x, —1)+ ¥y, =0,
B (my, +n—1)(my, +n—-1)+y,y, =0,

7RE (M +1) y,y, +m(n=1)(y, +y,)+(n-1)° =0,
A Yo+ Y, =4m, Yy, =—4n A,

am? =n? —6n+1, 4(m’+n)=(n-1)">0,

FrAn=1, Hn?—6n+1>0, f#fn>3+2J2 8in<3-22.
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WA F BIELMN WEEES NG, Brold = : ,

IMN|= (% =%, +(¥, ¥, )" =L+ m? |y, —,| =L+ m? 16m? +16n

=2J1+m? \/4 6n+1 +16n =21+ m? In-1,

FrLADMNF (i S =%><|MN|><d =%xMx2x/1+m2 |n—]4=(n—1)2,

J1+m?
in>3+2J2 8n<3-22, AL,

S0 =3-24Z I, [IMNF MRS, =(2-242) =12-8V2 .
L0 AR B R AR B R AN B3R B M 36 3, — R TIRTE, A AR L (140
RIEI IR, R = A IR SRR, TR T M

21, o f(X) =ax— ;;23Xx X E(O,gj

(D Fa=8, vhit o) K

(2) # T(X)<sin2xfapar, K a HHUE .

L2422 (1) BRI

(2) (-,3]

[#bT]

[4HT] (1) RS, BJE4t = cos? x, e F R 755 B AT

(2) #itz 9(X) = f(X) =SIN2X 457 ') AR KAE, AR5 5 0 FBK/IN, 753 1 @ 9 43 i, Bt @dsh i By
CGNERRE D

COS X C0S° X +3sin X cos? xsin X
cos® x

f'(x)=a-

cos’ x+3sin®x a 3-2cos” X

cos* x cos* x

4 cos® x=t,Nte(0,2)

3-2t at’+2t-3
Y

mf(x)=gt)=a—
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2+2t-3  (2t-1)(4t+3)

", / 8t
Ha=8f (x)=9g(t)= = 2

é’;te(O,% ,EI]XE(

gj,f'(x)<0.

A3

é’;te(%,l ,EHXG(O,%), f'(x)>0.

BBl 1 () 75 0%):%@15@1,@&@ R
(@NEIPRES 1) |
£ g(x) = f(X)—sin2x
2 p—
g (x)= f'(x)—2c052x=g(t)—2(2c052x—1)=at+t—22t3—2(2t—1)=a+2—4t+%—t§2 %

go(t)=a+2—4t+%—t§2

3 _ 2
%+§3:—4t 32t+6:_2(t 1)(2t3 €243
2t t t

o (t)=—4-

Bk o) <o) =a-3.
r#ae(-0,3],9'(x)=p(t)<a-3<0

T

HY 9 (x) 72 [0, >

]L%ﬁﬁémﬁﬁu g(x)<g(0)=0.

fibl 2 a e (—oo,3], f(X) <sin2x, 454 .

2" % ae(3,+x)
2
%teo,g—%:—B(}—lj + 1ol e(t) > —o.
t t t 3 3
o) =a—3>0.

fLh 3ty € (0,2) 873 ¢(t, ) =0, 11 3x, e(o,%j,ﬁ% 9'(%)=0.

2t (1), 0(t) > 0,121 x €(0,% ), g (x) > 0,9 (x) syt

fiel xe(0,%),9(x) > g(0) =0, Rz
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g5 1, afty B Ty (—o0, 3]
[ ] S8R i i A R T e, T 0 2 PR U S 7 T = COS XA JE SISk A A2 il bR 4L, #5 By = COS Xy,

%t e(ty,1), o) > 0,552 x e(0,%),9'(X) >0.

9. 3508
X=2+tcosa
22. 2 P21, Hl 2{ . (t NBH0, 15 x B, y BIER#5E T 4, BPisA, |PA|-|PB|=4.
y=1+tsina
(1) RamfE;
(2) PAJR SRR A, x B IE RO ST AR PR 2R, 3R 1 IARAR AR T FE
3n
EHR] (D —
[ )| 2

(2) pcosa+psina—3=0

[ f#47]

CAMHTY (1D ARG € A0 LT SCED AT A

(2) SRINEZ | A Rm R, AR LA bR A B A T 4 Sk TR
(@NERRES S |
ﬁﬁuﬂm,ymg¥mi%AB%ﬁ,%ug<a<m

/?\X:O, tj_:_iy /Q"\y=07 tzz_iy
cosa sina

i PAIPB| =t = —2—| =| -4 | =4, Frstsinza - s,
21 sinacosa|  |sin2a|

1
1] 2a=g+k7t, ﬁr’é’%‘aa=£+§kn,kez,

i‘gg<a<n, ﬁﬁuaz%n.

[N 2 PR ]
(D s, BE&IREAana=-1, HitmH(21),

FRLLVELR | rm e y—1=—(x-2), ix+y-3=0,
H X=pcosa,y = psina a[F H k| itk bs 72N pcosa + psina —3=0.
23. 2 f(x)=2|x—a|-a, a>0 .

(D) Az f(X) < x
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(2 #y="T0) HdbafhEp WA 2, Ka.

a
[ 1 (D (3 )
(2 ZT /6

LT ]
(] (1D 7 X<afn X>aifigEinf;
(2) 5 7y Bees B, 1) HY 55 P, 2Rk T AR A 5 R R
(GNERRES |
#Hx<a, f(x)=2a-2x—a<x,
Eﬂ3x>a,ﬁ£”%x>§,ﬂ|1§<x£a,
3 3
Zx>a,n f(x)=2x—2a—-a<x,

g x<3a,fla<x<3a,

Z%L,Kf:—%iﬁ%%;%%(gﬁa)

(GNEPRES |
F(x) = —2x+a,x£a.
2X—3a,X>a

i OO BB LI O 5 AR bR R AADO 5 [1ABC
. a 3a
DABC E(Jl%y\ja’ D(O! a)! A(E,Oj1 B(?’Oj aﬁﬁw\| AB |: a

1 1
FTEAS oo + S ase =§|OA|-a+E|AB|-a:§a2 :2,%”%51:%

[

y\
D\ /
A B T
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